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PART - I : MENTAL ABILITY TEST
(For Student of Class VIII)

Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open
the Question Booklet.

1.

2

Answers are to be given on the same OMR Answer
Shieet.

There are 90 gquestions in this booklet. All are
compulsory,

Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark ‘¥ or %" in the OMR sheet.

Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much lime on any one question.

If you do not know the answer Lo any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
have lieft in the first instance and attempt them,

Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet/ loose paper.

Each correct answer will be awarded one mark.

Please retum the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the
Ouestion Booklet.

Quote your seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.

u@d - 1 : wenGHlmer Goiay
(rLmb @iy Lo s @ g s s i)
G - 90 kst G Qi sy + 90
Coiray mupgunispsstar of Sipammssr

sl e (s @ wmh (Hm LSS (pein Glaar(fldasd i (Wsier
il B pom s ST s & EURITLIN S, Lilg i1 .
1. allen menar OMR silene et @hiie Gastor(Ho.

2. @aCadaili 90 limsass o sienar. i hEHE0n
& mnh eflem oefidmdn . Gasssriphi,

3. gaGanm allamefEn GarEEsouc G wrmng
eflam_ssafoblgs e aiumss sy lemerd s B
Ayeng OMR efilsn ggaafii o fhu o’ 8 amiy Sn
urdumiBsr”  Guernillarnd  $lL  Sauser@in.
v b % g gefuiGssmar OMR aflam_ gzl
Qenlanih s 1 my.

4. mﬂmwmwm i By Ll
@apanargrs Beuugrn ahs 6 Semallpen
& (Digd) GprEams Clruan ismmos Gy Sag es Fioks
(prmmuli LS.
5. ameusy g ollarmaflius, ellsm Qufhueildene ersbnmmd
2t Cy srwafimiunn Qeinmss HB5S almmaiine
Qeeoaas. Confmisnd wadld o8 06samn
aflgmrm dasman (e Gainegh

6. eflom memard menn ik lhgﬂnmﬂ.m aufpsnms e

el praGlmm e afl oy GesterGuoramgnh Claig
Qanmsrersnis. OMR el gprafiGan  syéesy

el mrafiClanr Glalnusa. | ma

7. giQanm sfurer el dgbd G wHOE LN
LIT e T

8. Caiin puis JApe OMR eile Gsrea wl @i
ysomd e sreofiimerfi il GanBdsaih. aflamgrid
Glrgmin | Gt o(fidigs Glasdaemi.

9. aGmeub ssd Ggriy Gensior Sasdmgw i
aiugs 7y Boss ofGamrmers Samron

UbBBES Bl uSsbes Gpn dsag



|CODE |[vil| 1] 23]




[CODE[vin] 1] 23|

MENTAL ABILITY TEST/wengdmesr Csiey

Direction (Q. No. 1 to 10) :

In each series, the alphanumericals are following
certain rule or Pattern. Choose the answer from
the given four alternatives.

Find the next term in the series,

L

1. 0,1,3,610,
(1) 24 (2) 28
(3) 30 4) 15

2. (2 3). (3.5 (5. 7). (7 11),

(1) (11, 13) (2) (11, 17)
(3) (13, 15) (1) (13, 17)
3. 0,38 15 24,
(1) 35 () 37
(3) 29 - (4) 33
4 2.9 28, 65,
(1) 139 (2) 196
(3) 126 (4) 138
5. 5,14, 32, 68, 140, 284,
(1y 568 (2) 570
(3) 572 (4) 564

6. 2,12 36, 80, 150, 252,
(1) 392 (2) 300
(3) 312 (4) 298

suflapenp (elenm eremr 1 1p@ed 10 suenn) :
Epasngnd Gemfgider erawCemnpgidadt
e GO 8lfl seoliSenng aflensii-
ufBgsuu_feaarg. GCar@asduc_Herer
mrem@ wirhm sleLsafia  sflwren
e CaipbshEsan.
Agrfian SPss epluloams sar(-
g sEaylb.
L 0134610,

(1) 24 2) 28

(3) 30 ® 1

2. (23).35),06 7.7 11),

@ 113 2)

(3) (13, 15) (4)

(11, 17)
(13, 17)

3. 0381524,

Q 35 (ﬁ} 37

3) 29 4) 33

4. 29,2865
(1) 139 (2) 196
O 1 (4) 158

5. 5,14,32,68,140,284,
(1) 568 (2) 570
O s (4) 564

6. 2, 12,36, 80, 150, 252,
@ 3% (2) 300
(3) 312 (4) 298
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7. 1,26 21,88, y 7. 1,26, 21, 88, :
(1) 400 (2) 445 (1) 400 Q 5
(3) 440 (4) 472 (3) 440 (4) 472
8. BY, CX, EV,GT, _ . 8. BY,CX EV,GT, :
(1) IR (2) KP (1) IR Q@ «xr
@) KO (4) P (3) KO 4) JpP
9. 10, 11, 109, 110, 1099, 1100, . 9, 10, 11, 109, 110, 1099, 1100,
(1) 11000 (2) 10999 (1) 11000 Q 10999
(3) 10099 (4) 10990 (3) 10099 (4) 10990
10. 1,2, 4,3,9,5, 16,7, 25, ; 10. 1,2, 4,3,9,5, 16,7, 25,
1y 9 2 10 (1 9 2) 10
(3 1 (4) 36 - O n 4) 36
Direction (Q. No. 11 and 12) ; auflpen (eblenm erever 11 wH@D 12) :
Find the missing number/letters in the following | fpésran Qgrifgieater eflBHuULL eraw/
Series. = STPSFEDaTE ST ihls,
11. E4V,I8R, MI2N, 7 , U20F 11. E4V,I8R, MI2N, 2 , U20F
(1 Q17] (2) Qt6] (1) Q17 @ il
(3) QI7K (4) Q16K (3) QI7K (4) Q16K
12. 6000,5940, 2 35823 ﬂ 12. 60005940, 2 5823
(1) 5881 (2) 5746 . @D 5881 (2) 5746
(3) 5854 (4) 5788 (3) 35854 (4) 5788
Direction (Q. No. 13 to 16) : auflapenn (ellemn sremr 13 (1ps6L 16 sueny) :
Find the incorrect term in the series. ’ Seneumb Gsreflé geumner s plieus
Ganhlshasa)b.
13. 56, 58, 62, 70, 84, 118, 182 13. 56, 58, 62, 70, 84, 118, 182
(1) 58 (2) 62 . (1) 58 (2) 62
(3) 118 (4) B84 (3) 118 Q@ s




14, 840, 210, 80, 35, 35
(1) 210 (2) 80
(3) 35 (4) 840

15. 2, 3,12, 37, B6, 166, 288
(1) 288 @) 3
(3) 166 4) 86

16. 2, 6,12, 18, 30
1 6 @ 12
(3) 18 4) 30

Direction (Q. No. 17 to 20) :

There is some relationship between the two
numbers/ Letters of patr. Find the missing number
/letter of the next pair having the same
relationship as first pair.
17. B:125::16:

(1) 256 (2) 49

(3) 343 4) 400

18. AF:11::GL:____
1y 12 (2 15

3) 9 4) 8

19. Thermometer : Temperature : :

Sphygmomanomaeter :
(1)  Huomidity (2) Density
(3) Blood Pressure (4) Heat
20. June : September : : July :
(1) August (2) April
(3) February (4) November

[CODE [vin| 1] 23|

14. B40, 210, BO, 35, 35

(1) 210 @ so
(3) 35 (4) 840

15. 2, 3,12, 37, 86, 166, 288

(1) 288 @) 3
@ 166 (4) 86
16. 2, 6,12, 18,30
(1) 6 @ 12
@ 18 4) 30

auflpenm (ellem sremr 17 (pged 20 suew) :

Qarhassiul [Herarencusatiay apse) @)enemr

gm waswllda Bamoryu@ssliul Herarg.

2iCs Qs enlohs (S §evammiilan

lPulL s miiewus CaibhsiHésab.

17, 23:1235::16: _
(1) 256 (2) 49
@ 343 (4) 400

18. AF:11::GL: _
(1) 12 (2) 15

3 9 ® =

19. Thermometer : Temperature : :

Sphygmomanometer ;
(1)  Humidity (2)  Density
@ Blood Pressure  (4)  Heat

20, June: September :: July:

@ August (2) April
(3) February (4) November




|CODE |[vini] 1] 23]

Direction (Q. No. 21 and 22) : auflipenm (slleon erevor 21 HDID 22) :
Choose the group of Letters which is different from | whpeap@adlmps Caupulc euwiss
others. @(peneuh GaihesHEsa|0.
21. (1) BCD (2) EFG 21. (1) BCD (2) EFG

(3) HI (4) KML (3) HI M x
22. (1) TS (2) FG 22, (1) TS @ r

(3) ML @ zy (3) ML 4) 2ZY
Direction (Q. No. 23 to 32) : sublapenm (shlenm eremr 23 (pgev 32 suemr) :

Find the missing letter/number in the following : | Slensumeveneupfle  eAlHuiL  ere/
erpdenssd sem(Hlysseab.

8- 12197 2. (21 [19]17
18 | 22 | 26 18 | 22 | 26
30| 2 | 44 30| 7 | 44
(1) 35 () 37 (1) 35 @ 37
(3) 41 4 42 3 41 4) 42
24. EYJ-I& m\(@; mYaa 24, r.Yaﬁ me me
30 28 ? 30 28 ?
(1) 48 (2) 10 @ 48 2 10
(3) 14 (4) 50 (3) 14 (4) 50

25, lea[36]25]/8\ [32[16]16}2\ 25. [9Ni2l6]lB\ [6al3625]4\ [32l16[16]2\

(1) 4 2) 8 @ 4 (2) &
(3 32 (4) 64 (3) 32 (4) 64




26.

27,

29,

30.

64|85 |1n3]|]9]|2
34 53 47 ?
(1y 18 2) 81
(3) 29 @ 27
EB
? 7
15 PA
™ AM
3
(1 8 @ 12
(3) 10 4 -12
125 8 ?
A AN 48
64 40 16 8 25 15
(1 9 (2) 100
(3) 27 4) 64
5] (7] 18]
[6l93l15] [9]2]5] [4]50[1]
3] 6| (8]
(1y 27 (2) 19
3) 5 (4) 89

3 5 10
(1) 22 (2) 12
(3) 30 (4) 32

[CODE [vir] 1| 23 |

% resTallsls| ]3] [o]2
34 53 47 ?
(1) 18 (2) 81
@ 2 4) 27
27.
2) 12
@ -12
3 ?
28. 6 /B\]
B 25 ‘15
(my 9 (2) 100
0 (4) o4
29. 5] 7] 18
lel93l15] [9]2[5] [4]50{1]
3] 6] 8
(1) 27 (2) 19
(3) 5 @ s9

30.
ﬁAﬁ ﬁ/z\? 4A&
3 5 10

(my 22
(3) 30

2) 12

® a2
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a1,
(1) 21 2) 17
() 19 4) 23
32—®Y@@ ®@ B
? 20
(1) 25 2) 15
3) 10 4 5

Direction {(Q. No. 33 to 35) :
Find the code word / number.

33. U CATTLE is coded as 61, then GRAZE will

b :
(1) 57 (2) 24
(3) 39 (4) 25

34. [f POPULAR is coded as RRTZRHZ,
MACHINE s coded as ODGMOUM, then

PROBLEM will be toded as :
(1) RUSGRLU (2) RURGRKU

(3) RUSGQKU  (4) RUSGRKT

31,
8 |15
5 9
1 11
Ak
1y 21 e 17
3) 19 4) 23
"o pe H@ @
? 0]
(1) 25 @ 15
(3) 10 @ s

auflapenm (eflewn eretor 33 (pa6d 35 suenr) :
sRiGag curigans/ ereumeneams ser()191g Ssa)ib.
33. CATTLE eremug; 61 erafiley GRAZE eremLigy -

0 s

(3) 59 4 25

(2) 24

34. POPULAR eténug RRTZRHZ eremeyid,
MACHINE eranugy ODGMOUM earenayh
GMluS_ L méb, PROBLEM erainiig :

(D RUSGRLU (2
(3) RUSGQKU (4

RURGRKU

RUSGRKT



35.

a7

In certain code, 134 is coded as “You are
well”, 718 is coded as “You feel happy” and
839 is coded as “We are happy,” then the
word ‘well’ represents the number :

(1) 1 2) 3
(3) 4 4) 7

Ragu walks 20 km towards East. He turns
left and walks 40 km. He again turns left
and walks 20 km. Finally he moves 20 km
after turning to the left. How far4s he from

his starting point ?

(1) 20 km (2) 60 km

(3) 50 km (4) 100 km

Arrange the given words in Alphabetical
order.

A. nest
B. near
C.  neck
D. neat
E.  next
(1) BDCEA
(2) BDCAE
(3) BCDEA

L
(4) DBCAE

35.

36.

37.

[CODE [viI] 1] 23 |

134 ererugl “You are well” erengb, 718
g “You feel happy” wpmib 839

earLg “We are happy,” ereneyd
GhlEsuulLra, ‘well aatumss
GOEED eres

I 1 (2 3

O «

@ 7

1@ erenueul Spsm Coradl 20 £.65.
pLEHDTT. et @Liymd Sl
40 &.8. pradlpni. San@db Seuf
B iypis Hmbi 20 .85, BLsdmmr,
@mdwurs GLaymwrs 20 4.8
Qeadlpri eeafla, seui pnblss
Qrsfdmpa spCungy erdiaserey
Qsrenevelle o sremni ?

Q@ w48 )
(3) 50 & .85, (4)

6l &85,
100 &..8.

Aan@Hasin’ Haear aIrismssa@er s
auflensiLBsa b,
nest

near

neal

next
(1) BDCEA
BDCAE
(3) BCDEA
(4) DBCAE
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38.

39.

40.

3 5

Arrange the following words in a
meaningful sequence.

Book
Pulp
Timber

Forest

m o N o®

Paper
(1) BEADC
(2)
(3)

(4)

DCEAB
DCBEA
EDCAB

If*—" means’+"," +" means’ x",’ x' means
L ¥ ] # H'IEI‘I.

B and = means -

15x54+4-3+15=?

74

(1) @ 0

4) 1

I Ameans’'=', Bmeans ‘+’, C means ‘'
and D then

oy R |
AN BIDY =)
Ec-iAEB D2

W #

means =

bn | s

(2) "

b | =

(1)

4 0

| s

(3)

10

38.

39.

40.

SpsEMO 9. Reter  aunisangasanar
STGEpaTer GETLINS WIDHps.

A.  Book
B. Pulp

C. Timber
D. Forest
E. Paper
(1) BEADC
(2) DCEAB
@ ocBea
(4) EDCAB

"= eremug ‘+ eTemeylh ‘+° eremug
‘' eremayd ‘%’ WL’ +° eremayld’
+' eraug ‘- ereajld GErewmime
15%x5+4—-3+15=?

@ o

(1)
(3) 5 4 1

74

A sTemug ‘' eremayd, B erantug) +°
eramayid, C aramugy)’ + eremayib, D etenuig

&

- arenayib Gl & ralr Lmeb,

C A%BID2=?

1
1

b | -

-

(2)

| =

(1)

= |
=

3)



41. Which among the following is correct ?
(1) 8x15-7+7+9=128
(2) 15x9-7+7+8=128
(3) 8x9-7+7+15=128
(4) 7X8—-5+947=128

42, [ 7+11=324 and 8+12=400, then 9+6=7

625
125

225
1225

(1)
(3

(2)
(4)
43. Find the Missing Letters.
bbb __bbb

(2) baab

(4 abba

aab
(1)
(3)

—_aa__

abab

__ daa

aaab

Direction (Q. No. 44 to 46) :

In the following diagramatic representation, if
rectangle denotes the persons who play
Badminton, Triangle denotes the persons who play
Volleyball and circle represents the persons who
play Tennis, then answer the following questions.

44.  The number of persons who play all the three
games ;
(n 2 @ 7
(3) 4 (4) 3

11
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41, Spssramueipper eg &fl 7
(D 8x15-7+7+9=128
(2) 15%9-7+7+8=128
(3) Bx9-7+7+15=128
(4) 7xB-5+94+7=128

42, 7+11=324 wppw B+12=400 ar e,

9+6=7?
(1) 625
(3) 125

43.
aab
(1)
3)

___ Ba

abab

aaab

auflapenm (ellewn sttt 44 (LpG60 46 auewy) :
EpsEPlul Berer sumyuLgdle, Gesuausin
s eflenemunpusuigenemud, psGaTammDd
ensliupg clleenurueaisanenuld, sul LD
QLeneflev eflemenunBueursamenyn @ibls-
&lpg erefier eflemn sraim 44 (pSe 46 aueny
earer ellannssEnse sllen wallésab.

4. ppanm eflearun.(amearyn silenar-
wirBib puirsatien sraranfsens -

(1) 2 (2) 7

@4 (4) 3
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45. The number 7, represents the set of persons

who play :

(1)  Only Badminton

(2) Only Volleyball

(3) Only Volleyball and Badminton but
not Tennis

(4) One Volleyball and Tennis but not
Badminton.

46. The number that represents the set of persons
who play Tennis but neither Badminton nor
Volleyball :

(1 1 (2) 2
(3) 3 (4) 4
47. The number of triangles in the given figure :

14
16

12
B

(1)
(3)

(2)
(4)

Direction (Q. No. 48 to 50) :

The following diagram shows some relationship
among 3 items. If each group of elements
corresponds to a diagram, find the correct

diagram.
Ok
(1) (@)

O OO0
O o

&) (4)

12

45. cremr 7,

enand (sHl&&Img.

(1) yuups wi(b

(2) @&dupg o (HD

@ enaULIhs) WHmb LiLks wl (b,
enmed @_enefldy Gdaena

(4)

cflenemun(Bib muifs-

@aslubhs wppe GQuenals
WL spenme Liihs Edena

46. GLewaflay elevemumBueuisaT <y esmre
uaupGesr  saaz @suusCsm
ellenemun_ng puiseends @ilsEh eraer :

O 1 2) 2

@ 3 (4) 4

47. Qsr@&ésLu’L  uLgfle e drer

apEGanemiusatien ereTaniiEesns :

(1) 14

B 1

aulapenn (ellesn e1emer 48 (1ps60 50 sueny) :
Gereumib UL Bse galeaumarmih apenm
Gunmersensda Cu o drar Agnitenu
dilansGeugsns senwhgeranan. geillainm
elenmayb L BisEhLa GsTC iy wg
srafleh sflwnen LLuseeand CainhEsHdsaub.

(Do P ©°
0 @

12
B8

(2)
(4)

(3) (4)



48.

49.

51.

52.

53.

Food, Curd, Spoon.
Protons, Electrons, Atoms,
Birds, Insects, Mammals.

Two different positions of a dice are shown
below. ldentify the number at the bottom,
when the top 1s 3.

®
m 2 2 1
3 5

4) 6

If the English alphabets A to Z are written
in the reverse order, what is the third letter
to the right of the fifteenth letter from the

left ?
(1y O (2) R
3 1 4 L

If day after tomorrow is Friday, what is the
day 2 days before Yesterday ?

(1)
()

Sunday

(2)
(4)

Monday

Friday Saturday

13
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48. oamay, A dugye —) 2

49.

51.

52.

53.

LiG . . r.if -y v -‘ - 4.9'

upeeusdr, yiflsdr, ungn gsdr — 4

gm useLllar @@ Ceay Hewsd
sruul@eraren. usaruwen Guoa
usssSé e 3 edierg erelld,
g LLEES Sl e dTen eremr

B ©
(1) 2

o

(2 1

4) 6

sybdle aphgisemear @)Leiab wrpbl
erapBw Gen, @ blmpbg 15 -eugl
aupifen awblpps 3 -ug WS
Greaten 7

1y o

O !

@) R
4y L

pranar wmErar Geuenafisflpeno erafle,
CohenméE 2 Briser ophasu Senbd
arestent 7

0 onip
(3) Qeueirafl

(2)
(4)

Erimer

sanl
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54. Find the incorrect pair.
(1) Students - School
(2) Patients - Hospital
(3)  Actors - Theatre

(4) Passengers - Train
Direction (Q. No, 55 to 57) :

Read the passage and answer the guestions that
follow :

7 bags coloured White, Black, Blue, Red,
Yellow, Pink and Green are kept in a row such
that,
(i)  Black and Yellow are next to the Middle bag.

Green and Red are neither al the extremes
nor in the Middle.

No bag is at the right of Pink and no bag at
the left of Blue.

(i)

(i)

(iv) Yellow bag is at third from right and

immediate left to Red bag,

55. The bag in the Middle :
(1) White (2) Black
(3) Green (4)  Blue
56. The bag kept 5" (rom the left :
(1) Black (2) White
(3) Yellow (4) Red

14

54. saumnen @eerenus CsihtlsHiéseub,

(1)  Students - School
(2)

©)

(4)

Patients - Hospital
Actors - Theatre
FPassengers - Train

auflwenn (sllemn ereter 55 (p&60 57 auenn)
Sareumn GHloysaar’ Less 2samas
Qgrba 6L (5 LD ehlennéa @i
shlenwiafl&sayib.

Qeuerenar, smuy, feb, Hauly,
wieghsdr, @ergrfleutiy wHmb Lsms Hlm-
USET g Wemeuhony eussiul (-
2 aeren.

() s@LUYL wessFeEsd wsHulla o dren
eusEEL LsssSld) o draran.

uFmesyld SHalyh wsH@aubd,
griusaiigun Edama.
@earerflaulingE uag usssHab,
posflear @LiLsssBgn Ths @O
enLWLh @)ebane,

wEssear Bpl ey euanllimhg spanpn-

(i)

(i)

(iv)

augnaayb, &aly Hpd ouss
Buiupsdad e ereng.

55. plHelladimEmn e
@ Cleustenen () &smiy
(3) wéens (4) faub

56. QLbImps mbsraisns ameauds Ul [
o ETTerm @l -
(1) &y (2) Qeuctenar
@ LD (Eh&FET (4) &Hauliy



57.

58.

The second bag from the right :
(1) Red (2) Green
(3) Blue (4) Yellow

A tennis champion had won 90% of the
matches he played. If he has lost 25 matches,
then the matches he had won so far.

(1) 250

(3) 275

-

If 174=5, 2*5=12, 3*6=21 then 8*11=7

(1) 88 (2) 96

99 40

L s

(3) (#)

In a code A, B and C take the values from
0to 9. 1f ABA + ABC 4 ACC = 1416 then the
value of A, B and C respectively are :

2y 5L ,4

(4) 6,24

15

57.

58.

59.

[CODE[vi] 1| 23 |

aelimphs BrarLrusrs @osEn
=1 B

o ey

3

(2) u&ens

feid (4) Ensen

em QLenafley eflepemunl ([ elpit ren
By damaungu L hsefo
90% Qeupil @ubmerermi. Seui 25
UL ksalle Caromererni eafild,
el Qepdl Qupp =L isallsn
cragTemtlSens

(1) 230

1*4=5, 2*5=12, 3*6=21 erafléh 8*11="7

O 9

(4)

(1) 88

(3) 99 40

o GHULE apepulie A, B uppw C
Sfwenar 0 gpge 9 eumpliwren
wHl@us Sararfarara. Sbop@n-
Wlés ABA+ABC+ACC=1416 erafiled,
A, B & C -en wdlusar apanpGu

O 76

3) 426

(2) 51,4

(4) 624
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Direction (Q. No. 61 to 63) :

In a family, the relations are given as follows :

Answer the questions that follow :

() UisR'sSon
(iiy Pis(Q's Father
(iii) Sis U’s Mother
(iv) RisQ's Brother
(v) Tis R's Mother
61. Grandfather of U :
(1 P - (2) Q
(3 R 4 s
62. TisPs:
(1)  Brother (2) Wife
(3) Mother (4) Father
63. The relation between Rand T :
(1) RisTsSon
(2) RisT's Mother
{(3) RandT are Sisters
(4) RisTs Father
64. If East becomes North, then North becomes -

West North Waest

South East

(1)
(3)

(2)

East (4)

16

auflpenn (eflenm sTemm 61 (PB60 63 euemT) :

a0 Ghwusda ECyp @MUY Beraramy
L DaYSET ennhgicTeren. Sigamand QAgm_imha
auhlD eflennéaienas eflen walldsayb,

(1)
(1)
(ii) S evemueun U -6 pbiom

U eremuieum R -& wnseh

P eretrigu Q - <yl

(iv) R eremueui Q -an sGangiyi
(v) T erenueuit R -eir =iiblon
61. U eremueufier sngsn:

QO v 2) Q

(3 R 4 S
62. T eraénueui P - :
(1)
(3)

aCang i @ vamd

S{Lhiom (4) =lur

63. R wppw T @oauméEid eemar eney
0
(2)
3)
(4)

R erenieu T e osen
R eremuiau T -em ibiom
R wpmib T sGangfser

R eremueui T - sy im

.ﬂ@&:@ STEITLIENS UL 5@ eTens (CEmamm_me
UlL_&®E srenanauns @) mE@ib :

0 Guis (2)
(3) Spss (4)

auLGunE
Qpendl pae



67.

69,

Ram makes 73" from the top in a class of
182. What is his rank from the bottom if 22
students have failed in the examination ?

B7
89

88
110

(1)
(3)

(2)
(4)

How many 5's are there in the following
number series, which is/are preceded by
7 and also followed by 6 ?

175632766574565756321
(1) 1 2) 2
@ 3 (4) 0

If the vowels are removed from English
alphabet, which letter is exactly midway of
remaining letters ?
(1) M
(3) N

(2 P
4) Q

How many numbers from 11 to 50 are there,
which are exactly divisible by 7 but not
divisible by 3 7

(1 2 (2) 4
M 5 (4) 6
20% of 40% of 500 is :

(1) 80 (2) 40
(3) 30 4) 45

17

65.

66.

67.

68.

69.

[CODE[vim| 1| 23]

182 oremreuiiser o dtar el gmb
eremuieuit Guoallgmigy 73 -sug &1 Bleneuuld
eararrt, 22 wraveursd Ggiehld
Cereveilyphperi eafle, Sfmbay
Saumen i grblena erenen ?

(1) 87 @ ss
(3) 89 (4) 110

Qeraumd oaanr alosla 7 -m
aparefliunaa)w, 6 - Ggrfursean
Qameawr(Haren 5 -setlen erammen|d&eands

175632766574565756321
(1) 1 Q 2
3 3 ) 0

Smdleo sEr euflemsulld eulCrpss-
semen fadlwnben edrar eTpdgisatie
sfluns enwwFdanee Tpss)

(1) M (2 P

® N 4 Q

11 -&@w, 50 -&@b @eLrull
sramraafle) 7 - au@Guid Syarned
3 -g@ @@uLTs  sansalen
ererentlGens ?

1y 2 Q@

3 5 4) 6

500 - 40% & 20% :
(1) 80 @ 4
(3) 30 (4) 45
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70. A clock was set at 12 noon. At 430 pm, the
hour hand has turned through

angle.

(1) 120° (2) 105°

(3) 135° (4) 150°

Direction ((Q. No. 71 ta 73) :

There is some relationship between the first two
figures. Find the other one from the options having
similar relationship,

~ O] 8] 7
s |29 & |oe
m @ 0 (4)
72. @ ,

®| |®

@

®

®

(1)

)

(3)

(4)

18

70. em syanyib wHwib 12 weeflulldlmma
Bussduu@dng aelld, s Fdw
et wrene 430 wafléE sLnflmEEh

Cammamrh
(1) 120° (2) 105°
0 w15 4) 150°

sufl(penm (eflemm stemm 71 (Lp&60 73 euemr) :

WwHe Grand UL msErsEn el
gGgaw em Gsruiy ecaamn. 65
Qammien sigliumeulao GamHiasiu L
v sl mbm sflwranenss CannhEs®6-

n |O| XK 8]
% |Ba| & |pe
HOIRIGIE
®)|®)|)|




73.

74.

J+ Ulu x s, AREY ¥
x'8s zlz 4 | ! ofel )
OeAlCeLrl@emAlC@A
AO®DA®DACI®OA
m o 6 )
N
?

Z
N
=

N

1

(1

(2)

@)

Direction (Q. Na. 75 to 81) ;

Choose the figure which is different from others.

5.

76.

(4)

(1)

(3)

« o8 3% ZE3%
(1) (2) (3) (4)

S
(&)

73.

74.

[CODE|vHr|1]23]

&+ U

Ux$S§

zlz & +

AL A

©@0e

O®A
ALO®

OeA
LA®

L_JOFAN

LAO

oeA

ojuy \

(1)

Q

(3)

N

4)

Z

AN

N

%

)

(2)

(3)

(4)

suflapenn (eflenn eremr 75 (60 81 euemT) :

@esn@sstul L umseala CagulL

gpetanma st Hluieyib.
75.

(1) @ 0 (4)
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77.

78.

(1) (2) (3) (4)
(m (2) 3) (4)

20

78.

(1)

(2)

©

(#)

11

it

(2)




Direction (Q. No. 82 to 88) :

Identify the figure which is the continuation of the
given figures.

BO®
BO®

(2) (3) 4

83,
@ |G| 7
O 'ﬁ 0 (AR
(1) (2) (3 (4]
84,
@A) A -
AN =}

A

O

(1) (2) (3) (#)

21
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auflapenn (eflenn erevor 82 (60 88 euem) :

CerPéstulL. uLmsaas QAsTLTHE

cupGauamg i LLGoss Campbafasann.

- BR® -
PO

(1)

RENEIEIE
® A O [
) @ 0 (©)

RO NE
A|:| /é\.& FL& @:
(1) O o )
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85. B5.

Ah. | 86.
| ?
|
@
(1) (2) (3) (4)
B7 ™ ole L] 87
e O ] ]
o o 0 ?
O (o]
o o
(o] =] L AR ]
o (o] o ]
0 O o 8]
[ ] ] e 0]
e e (o] o
(1) (2) A3 (4)

22

(2)

&)




@
D
D
U
D
D

| D
D| |w
b
O
D
il
i
D

~ D
iy
7
I]
w
D
D
w

1) (2) (3) (4)

89. The Mirror image of the word REFER :

(1) #A3344 (2) RITER

(3) AETEA (4) AIFIA

90. The water Image of A is :

(1) (2) (3) (4)

~00o0-

23
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88. = Dk O

N O/.ar_w% )

2 oc aeg o
71 /1N

[ r=i=1 Ol =)
1) O (3) (4)

®
D

@] b
D| |p

~ D
v

89. REFER erénp eunigengulilen sehmemmmig

Wl :
@O A3 (2) RIHER
(3) SAETEA (4) AIFIA

90. A -en gamenti bLLD :
VANVAN RVA VAN

(1) 2 @)

~-00o0-
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